
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

9490, 3 × 0.01 = ________ 1071, 2 × 0.0001 = ________

5848, 5 × 0.01 = ________ 9813, 4 × 0.1 = ________

4936, 4 × 0.01 = ________ 7932, 2 × 0.01 = ________

1102, 8 × 0.01 = ________ 9062, 6 × 0.01 = ________

1377, 8 × 0.001 = ________ 5533, 7 × 0.1 = ________

6672, 6 × 0.001 = ________ 3811 × 0.1 = ________

9325, 7 × 0.1 = ________ 8530, 9 × 0.0001 = ________

5073, 1 × 0.0001 = ________ 5697, 8 × 0.01 = ________

5376, 3 × 0.01 = ________ 5867, 8 × 0.001 = ________

4201, 4 × 0.001 = ________ 2265, 7 × 0.1 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

9490, 3 × 0.01 = 94.903 1071, 2 × 0.0001 = 0.10712

5848, 5 × 0.01 = 58.485 9813, 4 × 0.1 = 981.34

4936, 4 × 0.01 = 49.364 7932, 2 × 0.01 = 79.322

1102, 8 × 0.01 = 11.028 9062, 6 × 0.01 = 90.626

1377, 8 × 0.001 = 1.3778 5533, 7 × 0.1 = 553.37

6672, 6 × 0.001 = 6.6726 3811 × 0.1 = 381.1

9325, 7 × 0.1 = 932.57 8530, 9 × 0.0001 = 0.85309

5073, 1 × 0.0001 = 0.50731 5697, 8 × 0.01 = 56.978

5376, 3 × 0.01 = 53.763 5867, 8 × 0.001 = 5.8678

4201, 4 × 0.001 = 4.2014 2265, 7 × 0.1 = 226.57
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